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(1) int i = 1; int j =1 + "123";
(2) int i = 1; int j =i + "a";

(3) int i =1, j=2; int k =1 = j;
(4) int i = 1; real a = i;

(5) real a = 3.14; int i = a;
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var v1,v2: record a,b:integer end;
var v3: record a,b:integer end;

type r4 = record a,b:integer end; var v4:r4;

type r5 = record a,b:integer end; var v5:r5;
type r6 = record x,y:integer end;
type r7 = record x,y:1..1000 end;
type r8 = record y,x:1..1000 end;

type r9 = record y:1..1000; x:1..1000 end;

type r1l0 = record x:integer; n: "rl10 end;
type rll = record x:integer; n: "rl10 end;
type rl2 = record x:integer; n: "rl2 end;
type r1l3 = record x:integer; n: “rl2 end;
type rl4 = record x:integer; n: “rl1b end;
type rl5 = record x:integer; n: "rl14 end;
type rl6 = record x:integer; n: “rl7 end;
type rl7 = record x:integer; n: “rl6 end;
type rl8 = record x:integer; n: "rl19 end;
type r1l9 = record x:integer; n: "r20 end;
type r20 = record x:integer; n: "rl7 end;
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nametable = cluster is new, store, fetch, entries
new = proc() returns(nametable)
fetch = proc(n:nametable, s:string) returns(int) signals(not_found)
store = proc(n:nametable, s:string, i:int)
entries = iter(n:nametable) yields(string,int)
end nametable
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% samlb.clu -- cluster example

start_up = proc()

pi:stream := stream$primary_input ()
po:stream := stream$primary_output ()
nt:nametable := nametable$new()

while “stream$empty(pi) do
s:string := stream$getl(pi)

i:int := int$parse(stream$getl(pi))
if i "= 0 then
ntls] := i
else
stream$putl(po, sl||":"||int$unparse(nt[s]))
end

except when not_found: stream$putl(po, "?") end
end
for s:string,i:int in nametable$entries(nt) do
stream$putright (po, int$unparse(i), 5)
stream$putc(po, ’ )
stream$putl (po, s)
end

end start_up
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nametable = cluster is new, store, fetch, entries

ent = record[s:string, i:int]
rep = arrayl[ent]
new = proc() returns(cvt)

return(rep$new())
end new
fetch = proc(r:cvt, s:string) returns(int) signals(not_found)
for e:ent in rep$elements(r) do
if e.s = s then return(e.i) end
end
signal not_found
end fetch
store = proc(r:cvt, s:string, i:int)
for e:ent in rep$elements(r) do
if e.s = s then e.i := i; return end
end
rep$addh(r, ent${s:s, i:i})
for k:int in int$from_to_by(rep$high(r)-1, rep$low(r), -1) do
if r[k].s > r[k+1].s then
e:ent := r[k]l; rlk] := rlk+1]; rlk+1]
end

]
[0}

end
end store
entries = iter(r:cvt) yields(string,int)

for e:ent in rep$elements(r) do yield(e.s, e.i) end
end entries

end nametable
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nametable = cluster is new, store, fetch, entries

ent = record[left,right:nametable, s:string, i:int]
rep = variant[e:ent, n:null]
new = proc() returns(cvt)

return(rep$make_n(nil))
end new
store = proc(r:cvt, s:string, i:int)

if rep$is_n(r) then



rep$change_e(r, ent${left:new(), right:new(), s:s, i:i})

else
e:ent := rep$value_e(r)
if e.s = s then el =1
elseif e.s < s then e.right[s] := i
else e.leftls] := 1
end

end

end store

fetch = proc(r:cvt, s:string) returns(int) signals(not_found)
if rep$is_n(r) then
signal not_found

else
e:ent := rep$value_e(r)
if e.s = s then return(e.i)

elseif e.s < s then return(e.right[s])
else return(e.left[s])
end
end
except when not_found: signal not_found end
end fetch
entries = iter(r:cvt) yields(string,int)
e:ent := rep$value_e(r)
except when wrong_tag: return end
for s:string, i:int in entries(e.left) do yield(s, i) end
yield(e.s, e.1i)
for s:string, i:int in entries(e.right) do yield(s, i) end
end entries

end nametable
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